1

REVISION HISTORY

ECO

ZONE

REV.

DESCRIPTION

DATE

APPR'D

INITIAL OUTLINE DRAWING RELEASE

3/17/2021

MTS

“\

i 4
AN

Y
70y
A\

RORS
AN

6 ) 4
Z-AXIS ADJUSTMENT
- I =
f// M;U'WZJ — ____ ™ _ \\ﬂ
° [ - Il
WITH MOUNT
. [54]
“ i35
A | — () _ \%
° [ © e 1
0
WITHOUT MOUNT 5
TOP VIEW
[3.70]
94.1
NOMINAL
- - [282] B T semm (£0.25in)
- [23.61] _ 71.8 ADJUSTMENT
599.8 RANGE
I i e
j:l j§:l @
[13.28]
337.4
5 8 @g
FRONT VIEW WITHOUT MOUNT WITH MOUNT
SIDE VIEWS
- ] I
BOTTOM VIEW
: - - . o s oy

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS [INCHES].

X= %1

X= %5

REAR VIEW

IO POCKET

CABLE CHANNEL

TOLERANCES:

XX= +.25
L= £1°

DIMENSIONING AND TOLERANCING PER

ASME Y14.5M-1994

THIRD ANGLE PROJECTION

EEEEEE

DDDDDD

CCCCCCCCC

UUUUUU

IIIIII

1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.
NOTES: UNLESS OTHERWISE SPECIFIED.

P L A N A R PLANAR SYSTEMS, INC.
1195 NE COMPTON DRIVE
A

@ HILLSBORO, OR 97006 USA

TTTTT

ULTRA LED
PRODUCT OUTLINE

DRAWING NO.

SIZE PART NO.
SCALE

1:3 DO NOT SCALE

10F6



ULTRA LED CHASSIS
(INPUT CHASSIS SHOWN)

il B — =
o @
[ ]

] IS

MODULE SAFETY LATCH
(2 PER MODULE SLOT)

MODULE RETAINING MAGNETS
(4 PER MODULE SLOT)

- [23.61] |
‘ 599.8
_A @® ® X ® ® ® @R ® ®
O o o Sl O
® ® C] O ® ®
a@ G@m D
I]n\:lnll s K|
o LF I ez IV s sl | ST TS
[13.28] ® ® ® (e ® ® ® -
337.4 ® - % @) | ® ; u=°u ® ® N % ® ® _ % ®
= =0 STnn0ne, | g oo
: QIR G | SRR
Jﬁ”l_\"ﬂ% o all uu|:|u °
- X O . " ‘ @) X 0l = °
@ Q B ©@ ©® @© B C (? iuAaAbdl A A |
| —0 |
+ o) ) ) o) +
1 ® ® ) @ ® ® ® ® ®
5
°
=B
\ /
\\\ ///
EXTERNAL 48V
POWER INPUT
5V/4A OUTPUT LAN INPUT/QUTPUT
Q)
/ / / /|
J ] / ]
T o6 o 5.0 — (;m@w 0002030800 :
g o ol Og@ o0 00T v
ohse L il /J 026 LA ©000|I , e Cly &
0o o°o° TaY OfNE 0 ® 6 O NI ® ® SL¥0dNVI 0 O
[y W’ II /LQ_D ! \I \. | /
DETAIL A
IO AREA
IR RECEIVER

)

ULTRA LED MOUNT

s

ULTRA LED MOUNT SPACER

[21.42]
5440
. [57]
[1.64]
l 41.6 [;gg] <_l
— [2558] ':@[ E [1.00]
25.4
% - o
ULTRA LED MODULE
(93] |, -
[5.904] _ 23.5
149.95

[6.642]
168.70

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS [INCHES].

TOLERANCES:
X= #1 XX= +.25
X= %5 L= %1°

DIMENSIONING AND TOLERANCING PER

ASME Y14.5M-1994
THIRD ANGLE PROJECTION

THIS DRAWING CONTAINS INFORMATION PROPRIETARY TO PLANAR SYSTEMS, INC., ANY REPRODUCTION IN PART OR WHOLE WITHOUT THE WRITTEN PERMISSION OF PLANAR SYSTEMS
IS PROHIBITED. THIS DRAWING IS SUPPLIED FOR INFORMATION, IDENTIFICATION, ENGINEERING, EVALUATION, AND/OR INSPECTION PURPOSES ONLY AND MAY NOT BE USED AS BASIS
FOR THE MANUFACTURING OF PRODUCTS OR THE FURNISHING OF SERVICES TO PLANAR SYSTEMS OR TO ANY THIRD PARTY UNLESS AUTHORIZED IN WRITING BY PLANAR SYSTEMS.

3

ENGR BY

DRAWN BY

CHECKED BY

USED ON

MATERIAL

FINISH

1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.
NOTES: UNLESS OTHERWISE SPECIFIED.

P L A N A R PLANAR SYSTEMS, INC.
1195 NE COMPTON DRIVE
| —————. 0 HILLSBORO, OR 97006 USA

TITLE

ULTRA LED
COMPONENTS
5 _ ) o
E g DONOTSCALE ' 20F6
1



050-0218-02 REV B

@) m
S
w ;
W Sxg "
= i 5
=) =0
@) EL0 .
>4 £50 5
— »OX 5
92 u T
2 O Z 4 0o g
RO = | E Q E
0= O o-T — S z
Op zZ ® AN g 3
v = n'd =
ro O = z
wy I — Q
2% E A a
On 2 >
— L
s Lo <= 0 2
= Q- 22 2 06
= = s2 22 |
< L e} <
g <3 2908 | o Bk
% L A <O w £
O QO Q x> O w P y
o0 5 2 £ gl 2
@) %) Y o = E 5 3
> DO o o
= X0 g £ 5 S .
= N / wnZ Z = o o 5
[ \ > 2< 0O o o o i
= / \ —_ = O E 9 - - a
LI —1 [a'4 EN < B &
O ' O<u = z< J = &
Qo @ Mnﬂom wn> o W x
. HWRO Mh|u m %) w 0 MNM
2 ZoOT 2z 5 2 g5 :
[0'4 O o
O mEEm_Iu o~ ~ Z 2
e U@WB , B .5
\\. .\\ BPSH oz § 5 gx
‘.\,\ XE0Z : 0z % kB %
/! / / _,OARH =
(\.‘|||\ “ MCFC m w
IF;H'I/“MH“’/ bﬂ. . S 08 . 2
\ L o i 5§ &
< 62 ! 52 g
%\% . Z g XN i
A ~ 2 4z | 2 o3 &
l.i,k Yo 7.4mMu =u B 25 3
g2 F 2 g
— 05 s £
< W= : ¢
24 z= =
Z ~ =Ja) o
.O UUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUU fo) e T Y Y Y e Yy e e Y Y e Y Y Y Y Y Y Y Y Y T AT o A (04 N @
oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo ® 00
\\\\g\ o o o o ~°o003 3F
\?\..ﬁ s2%
\»r, \\ I\r \b‘\\ Wmﬂvm WMW
2=
Z w 832
P Bt
 re—— ————x ire————————— |
m @ © = (® e@ 0 @)k o © - (o) o o) ® m 4 wmw
I 0 Dl | Iz
| nan =9 | %8
> | =5 |
o m = - O | T
O Bl e e L e ] o
0 | oo oo | a8
m “ ® oo O | O=F ED D 'O oo O | O=Fyv DD ® “ w mmw
b | rLE =3%° Yo E =3%" | St
_ s b = e " = W _ o < O sEy
z m c@o X a@o o@o X G@o m T 9 < hes
! ! 0 — ZEy
“ ® D10 ER D O D106 ER ® “ Z <C sz¢
“ = =B = = “ ﬂVM M mmw
_ | = mww
m (] @ @ ® (] ° @ @ @ m _U|IH m mww
| Q Q@ G 9 |
! @ © ol (=) = !
| | Zof
| | i I I |
“ @ D106 D 'O DIC ® ! EES
“ = = ol o [ — ] = “ wmm
! !
m ® o] D10 o] D 6 o] D16 o ® m wmm
! © O}y O, © !
“ ® S o ® g |® “ Lo
| D=0 o~=D D=0 o~=D |
“ oo oo - oo 0o “
| |
“ ® CJ d@ ° eI 16 E d@ 9 (O o)l CJ °O® © PO 16O E 0@ o (e ® “
| = <= = @) 0 = <= o = ) |
| |
| o ) [+ o ) G () |
| |
m ® ) o o) o o) D O ) - ol M o) ® m
| ® a © |
| |
| |
| |
m @ M. D106 g D Q M D16 g m“ _
" LS 4 o LS " D
" ) oo O | O=F ) BD D O oo O | O=F 7y BD ® “ LI m Ll
m R eSS R eSS | =2 z2
| = = | — ]2
| q@o a3 oo oo U= oo | ]%Wmmn mmwm
| | [I— £ —
ke 3 ol ke 0 5 'C . ol ke 3 of | Mm mm
- = |
_ T 5 | Ll
D m @ @® @® ® @ @ ® ® m b
L iy | ® ©O) ® ® |
a) ! 5 > |
33 z2 ® ! ® & |
—_ | |
Sn3s 9835 | " T 1 44 |
— Z< 2= ! ® DI1C . D O _ 516 ® “
= L O LLI | = = o = = |
23 oo | |
% m ® o} D10 O D 6 o} o) ® O ® m
| @ Q1. 112 QLN
| & . 5 (@ |
| D=0 O~=D D=0 DO~=D |
! oo Do o 0@ DE !
| - - - |
N SOl S| N RN © SO Ay IS o8 IR ©d [
" ) Dl o ) <= o "
52
_|._8
— N«
Y ™ 0
m A | I—
A /7
]
0R Y
E L
"o O Z k
At ity . 1
V) = =
z I 4
0 ]
0,040
00300
0,040 (A
o%elelo o o
00g0g? — 44
0 DX
ol SRES
D%Dm Z L
0,040
07040
0,040
0%’
0,010
040
07070
M o%am M -
—~ o a00g0 oz
oz 09 0J%q? - 0yl >
= SZ |ue " Il o =
nu 29 oJoda? S o nU 2ofoo o
o CHE B o o -
on
O< oJo%o Ll %000 oz
LL Zo 0o0o%g 0900, ™ =
V4 04050 07070 — AS)
00g0g? = o0o0g0 N o ®
G : oz 00g0g0 N 2 0,
oddld dodofo % >
4 L 19000 O
S s T o
208000 00o0g
. o O
040 07040
LLI] o0 LLI
LLI 05008 090307
> e — i > —
07040
0,040
<[ 0%%? | < —w <{
R R — N o —— R
o R o 0, @ o
—| RET - —|




050-0218-02 REV B 8 6 5 3
[47.54]
— 1207 .4
OVERALL WIDTH CABINET OUTLINE
6.6[0.26] X 14.6[0.57] TRIM OUTLINE
MOUNT SLOTS FOR [14276843
#1/4-20 OR Mé BOLTS\ :
AND WASHERS CABINET WIDTH
i
o O o O
lb (o} o“c o é o o)
CABTIET £/0 I |1} | cABLE ROUTE CHAMSEL CARIIET 1/O
I O O O O
[13.28]
337.4
[26.57) \  [26.87]
675.0 682.6
oo OO CABINET | OVERALL
" ] I HEIGHT HEIGHT
O O o) | (o O 0 o o)
CABTIIT X/0 [ | | | | CABLE ROUTE CHAMSEL CABZIIT I/O
o O o O
RECOMMENDED AREAS
N 158.0 l
\
[3.11]
79.0
[10.53]
267.5
[5.28]
I 134.0 oo o O
||° (o) o“o (o] é e} o
l CABZIET /0 [ | | | | CABLE ROUTE CHAMSEL CABIET IJO
1 |
i o O \ o O , V
[1.85] _]
47.0
[.45]
11.5
MOUNT SPACERS
USE M5x8 BUTTON
HEAD SCREWS
. [.94]
24.0
[1.10] [20.47] | [3.14]
27.9 520.0 79.8
6 3

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS [INCHES].

TOLERANCES:
X= #1 XX= +.25
X= %5 L= %1°

DIMENSIONING AND TOLERANCING PER
ASME Y14.5M-1994

THIRD ANGLE PROJECTION

ENGR BY

DRAWN BY

CHECKED BY

USED ON

MATERIAL

FINISH

2.
1.

IT1S RECOMMENDED THAT FOR FLUSH WALLS, A MINIMUM OF 10mm (0.4")
GAP BE LEFT AT THE SIDES AND A MINIMUM OF 102mm (4.0") GAP BE LEFT
AT THE TOP AND BOTTOM. TOP AND BOTTOM GAPS MAY BE 10mm (0.4") IF
ADEQUATE REAR VENTILATION IS PROVIDED.

ENSURE THE MOUNTS ARE FLAT, LEVEL, AND PLUMB.
SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.

NOTES: UNLESS OTHERWISE SPECIFIED.

P L A N A R PLANAR SYSTEMS, INC.
1195 NE COMPTON DRIVE

L — e, ® HILLSBORO, OR 97006 USA

TITLE

SIZE PART NO.

D

SCALE

1:3

ULTRA LED
2X2 MOUNT LAYOUT

DRAWING NO. REV

SHEET
DO NOT SCALE 4 OF 6



050-0218-02 REV B

7 6 5 3 2 1
[71.15]
- 1807.2
OVERALL WIDTH
[70.87]
6.6{/(\)(.)231”)_( S]L%(STEO#Z]% - 1800.0 CABINET OUTLINE
CABINET WIDTH
#1/4-20 OR M6 BOLTS TRIM OUTLINE /
AND WASHERS
\ i
I
[39.86] [40.1¢]
1012.5 1020.0
CABINET OVERALL
HEIGHT HEIGHT
[13.28]
337.4
[2.05] [6.22] ~[3.11]
52.0 158.0 79.0
RECOMMENDED AREAS !
FOR CABLE INGRESS——__|
[10.53]
267.5
[5.28]
I 134.0
Y Y Y
[1.85]
47.0
MOUNT SPACERS
- [20.47] _ [3.14] USE M5x8 BUTTON
520.0 79.8 HEAD SCREWS
[1.10]
27.9
3. ITIS RECOMMENDED THAT FOR FLUSH WALLS, A MINIMUM OF 10mm (0.4")
GAP BE LEFT AT THE SIDES AND A MINIMUM OF 102mm (4.0") GAP BE LEFT
AT THE TOP AND BOTTOM. TOP AND BOTTOM GAPS MAY BE 10mm (0.4") IF
ADEQUATE REAR VENTILATION IS PROVIDED.
2. ENSURE THE MOUNTS ARE FLAT, LEVEL, AND PLUMB.
1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.
NOTES: UNLESS OTHERWISE SPECIFIED.
UNLESS OTHERWISE SPECIFED . cresy]
TOLERANCES: DRAWNBY P L A N A R I1D:_ QASN QE ggf/ITPEF%?\I IIZ)NRCI:VE
CHECKED BY m HILLSBORO, OR 97006 USA
X= +1 XX= +.25
X 28 el N ULTRA LED
O v s oa o PER 3X3 MOUNT LAYOUT
THIRD ANGLE PROJECTION
FINISH D - _
1S PROMSITED, THE CRAMIG 5 UPPLED FOR NFORMATION, DENTIFCATIO, ENGINCERING, SVALUATIN, AIORINSPECTION PRPOSES ONL 1 AND WAY NOT 82 USED A 4553 E 14 DONOTSCALE ' 50F6
7 6 5 3 2 1



050-0218-02 REV B

PLANAR SYSTEMS, INC.
1195 NE COMPTON DRIVE

6 OF 6

8 7 6
[94.76]
2407.0
OVERALL WIDTH
[94.49]
6.6[0.26] X 14.6[0.57] 2400.0 CABINET OUTLINE
MOUNT SLOTS FOR CABINET WIDTH /
#1/4-20 OR M6 BOLTS TRIM OUTLINE
AND WASHERS
\ i
[53.15] [53.44]
1350.0 1357.4
CABINET OVERALL
i
[13.28]
337.4
[2.05] [6.22] [3.11]
52.0 158.0 79.0
RECOMMENDED AREAS !
FOR CABLE INGRESS—}
[10.53]
267.5
[5.28]
I 134.0
1 ! ! I v
[1.85]
47.0
3. ITIS RECOMMENDED THAT FOR FLUSH WALLS, A MINIMUM OF 10mm (0.4")
GAP BE LEFT AT THE SIDES AND A MINIMUM OF 102mm (4.0") GAP BE LEFT
MOUNT SPACERS AT THE TOP AND BOTTOM. TOP AND BOTTOM GAPS MAY BE 10mm (0.4") IF
[20.47] [3.14] USE M5x8 BUTTON ADEQUATE REAR VENTILATION IS PROVIDED.
520.0 79.8 HEAD SCREWS 2. ENSURE THE MOUNTS ARE FLAT, LEVEL, AND PLUMB.
[;71 8] - 1. SPECIFICATIONS SUBJECT TO CHANGE WITHOUT NOTICE.
' NOTES: UNLESS OTHERWISE SPECIFIED.
DIMENSIONS ARE IN MILLIMETERS INCHES]
PLANAR
m HILLSBORO, OR 97006 USA
X= +1 XX= +.25
o S ULTRA LED
DIMENSIOB}S{QSS"\(IZECKALE%NCING PER 4X4 MOUNT LAYOUT
THIRD ANGLE PROJECTION
D
[SPROMIIED, TS DRAVING 1 SUPPLIED FOR NFORWATION DENTIIGNTION EXGIEERING DUALUATION MNDOR NSPECTION PURFOSES Ol A0 NAY NOT B USED A s 44 DO NOT SCALE
8 6



	Ultra LED Product Outline
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9

	Ultra LED Components
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Detail View A (1 : 1)
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33

	Ultra LED Trim
	Drawing View49
	Drawing View50
	Drawing View51
	Drawing View52
	Drawing View53
	Drawing View54
	Drawing View55
	Drawing View56
	Drawing View57
	Drawing View58
	Drawing View59
	Detail View B (2 : 5)
	Drawing View64

	Ultra LED 2x2 Mount Layout
	Drawing View61

	Ultra LED 3x3 Mount Layout
	Drawing View63

	Ultra LED 4x4 Mount Layout
	Drawing View62


